Math 10C

®

Review #2

1. Simplify. Answer with positive exponents.
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. Match eachroot with the most simplified form.

Column A Column B.
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. Fill in the table below

Factor Form Expanded form
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4. Make a linear equation for f(x) =4x—7. Then determine O

a f(-6)= (-G} -1 b. f(x)=21
‘P(‘éﬂ = *‘“0-2‘1"’7 0’{[ = /—[-1-7
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g = gx
H
7=X
5. State the Domain and Range of the following graph.
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6. Given the following graphs, determine the slope and the equation of the line in the stated

format. A48y $C=0
Find the slope. Find the equation in (M_o___m Find the
1. equation in glope/y-intercept form.
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Given: y = %x—lZ

Change the equation to General Form. Find the x-intercept. Find
the y-intercept.
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7. Solve for the missing side, to the nearest tenth.
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8. Solve for the missing angles, to the nearest whole number.
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9. The angle of elevation to the top of a tree from point A is 529. From point B, on the other side

of the tree, the angle of elevation is 732. If the tree is 11.8 m tall, then how far apart are A and
B to the nearest tenth of a metre?
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